Concentration Pop-Quiz: waries, 5 A4 T

MUST SHOW ALL WORK / FORMULAS

.) What is the molar concentration of an 225mL solution that contains 27 g of dissolved potassium sulfide K,S ?
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2) What mass must be used to prepare 4.4L of a 60 g/L solution ?
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3) Calculate the % concentration of a solution in which 180mL of solute are mixed with 333mL of solvent.
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4) What mass of hydrochloric acid HCl must be used in order to make a 6L solution of 0.155mol/L solution?
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5) Calculate the concentration (in ppm) if 12moles of K,S are dissolved to form a 2.5L solution s —
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6) Convert the following: J 7 S - —--J-'—-__._.
370mg / 200mL 370mg/ 200mL 32.5% (m/V) 6300 ppm 4.5 % (m/V)
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L,V g/L [‘_1' 92 %m/v 3’35 g/L 15 G0 ppm




